
Wie lautet die fehlende Zahl (bis 10 000)?

Aufgabe 1

1. 4 561 +     =  8 645

2. 3 775 +     =  5 072

3. 4 704 +     =  7 846

4. 3 320 +     =  4 598

5. 2 763 +     =  5 296

6. 4 934 +     =  7 851

7. 3 366 +     =  5 628

8. 2 820 +     =  5 141

9. 2 158 +     =  4 058

10. 4 807 +     =  8 501

Aufgabe 2

1. 3 030 +     =  5 714

2. 4 474 +     =  6 767

3. 2 134 +     =  3 257

4. 4 793 +     =  8 568

5. 3 697 +     =  6 875

6. 2 817 +     =  4 758

7. 3 258 +     =  6 370

8. 4 187 +     =  7 531

9. 2 786 +     =  3 813

10. 2 600 +     =  4 373

Aufgabe 3

1. 4 786 +     =  8 332

2. 2 493 +     =  4 948

3. 4 915 +     =  7 585

4. 4 426 +     =  8 224

5. 3 779 +     =  5 820

6. 3 787 +     =  7 322

7. 2 955 +     =  5 106

8. 3 174 +     =  6 270

9. 3 879 +     =  7 280

10. 2 868 +     =  4 440

Aufgabe 4

1. 2 385 +     =  4 568

2. 2 190 +     =  3 839

3. 3 990 +     =  6 198

4. 4 828 +     =  8 121

5. 4 856 +     =  8 802

6. 3 319 +     =  6 263

7. 4 557 +     =  6 604

8. 1 834 +     =  2 970

9. 2 461 +     =  4 475

10. 3 042 +     =  5 511
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Wie lautet die fehlende Zahl (bis 10 000)?
| ANTWORTEN

Aufgabe 1

1. 4 561 +  4 084  =  8 645

2. 3 775 +  1 297  =  5 072

3. 4 704 +  3 142  =  7 846

4. 3 320 +  1 278  =  4 598

5. 2 763 +  2 533  =  5 296

6. 4 934 +  2 917  =  7 851

7. 3 366 +  2 262  =  5 628

8. 2 820 +  2 321  =  5 141

9. 2 158 +  1 900  =  4 058

10. 4 807 +  3 694  =  8 501

Aufgabe 2

1. 3 030 +  2 684  =  5 714

2. 4 474 +  2 293  =  6 767

3. 2 134 +  1 123  =  3 257

4. 4 793 +  3 775  =  8 568

5. 3 697 +  3 178  =  6 875

6. 2 817 +  1 941  =  4 758

7. 3 258 +  3 112  =  6 370

8. 4 187 +  3 344  =  7 531

9. 2 786 +  1 027  =  3 813

10. 2 600 +  1 773  =  4 373

Aufgabe 3

1. 4 786 +  3 546  =  8 332

2. 2 493 +  2 455  =  4 948

3. 4 915 +  2 670  =  7 585

4. 4 426 +  3 798  =  8 224

5. 3 779 +  2 041  =  5 820

6. 3 787 +  3 535  =  7 322

7. 2 955 +  2 151  =  5 106

8. 3 174 +  3 096  =  6 270

9. 3 879 +  3 401  =  7 280

10. 2 868 +  1 572  =  4 440

Aufgabe 4

1. 2 385 +  2 183  =  4 568

2. 2 190 +  1 649  =  3 839

3. 3 990 +  2 208  =  6 198

4. 4 828 +  3 293  =  8 121

5. 4 856 +  3 946  =  8 802

6. 3 319 +  2 944  =  6 263

7. 4 557 +  2 047  =  6 604

8. 1 834 +  1 136  =  2 970

9. 2 461 +  2 014  =  4 475

10. 3 042 +  2 469  =  5 511
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